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Directions: There are in all 27 questions in this question paper. All questions are
compulsory.
(i) weAt &g FreiRa sis 377¢ wwg sifed 2 F

Marks alloted to the questions are mentioned against then_},.' %

(iil) D T B SIS ufed g T IR el
Read each question carefully and answer to the point.

(iv) 9eT T 1 SEfamedta I &1 39 U & Td @2 & IR H aR fadeq
fey e &) e faaew sl FeRyRae # fofae|
Question No. 1 is multiple choice question. Four options are given in
answer of each part of this question. Write correct option in your
answer book.

(v) We TRET 1 T e W08 U 37 BT 2| T3 61 2 |/ 9 T 06 305 &

) 9 R 10 16 T &1 375 & W &1 W T 17 9 21 % 9N

‘ 37 & WI & T AT 22 ¥ 27 I U™ 3P & WA &

Each part of question No. 1 carries one mark. Question No. 2 to 9
are of. one mark each. Question No. 10 to 16 are of two marks
each. Question No. 17 to 21 are of four marks each. Question No.
22 to 27 are of five marks each. .

(vi) 3 I99-07 ¥ G0 R o3 fadea 2t & aenfy sfoua ye=t 4 sialRs fasa
we v mar 21 0wl ¥ A vs fddew &1 &) IR A

There is no overall choice in this question paper, however, an internal
choice has been provided in few questions. Attempt only one of the
given choices in such questions.
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1. (@) = o sofa wen i - | S 1

In the following irrational number is :

(i) 0.125 ) 243 () 243 (Iv) V2 .48
(za)angxz-s_asvﬁaﬁmmm_r 1
Sum of zeroes of the polynomial x? -3 will be : )
(iy 0 (i) 243 (my 3 (iv) -3
() u%ﬁiﬁmwnﬁaﬂnaiqamu%,a}maaiqamz 1
If the n™ term of an A.P. is 3n+1, Its 8" term will be :
(i) 23 (i) 24 (i) 25 (v) 26
() QﬁsinA:%?ﬁcosAEﬁTﬂﬁﬁTH: 1

W

If sinA = -;-, the value of cos A will be ;

(i) o (i) 5 (il % (iv) -‘12_3-
(5) f&g3i (4, 5) 3R (6, 9) B Fom T T S wem g b Pideis dit . 1
The co-ordinates of the mid point of the line joining the points (4, 5) and
(6, 9) will be ;
M ,2) (i) (5, 7) (i) (5, 2) (iv) (1, 7)
(@) wwen gl Bt Y 4 : 9 & argur 3 &) 31 il & et & srgme @
1

Sides of two similar triangles are in the ratlo 4:9. Areas of these triangles
will be in the ratio :

() 2:3 () 4:9 () 81:16 (iv) 16:81
(8) afe feama TEROT x2+kx-6=0 BT v& 3T 1 &, A k &1 7 A - 1
If one root of the quadratic equation x?+kx-6=0 is 1, the value of k will
be:
(n 2 (m 3 (my s (iv) 6
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3.

(1) 0P TRY B 0B AR &7 T §1 OB O < S € & st @ : 1

A die Is thrown once. The probability of getting an even number will be :

M 3 w3 3 V) §

uﬁﬁnmz—% 1 T WRIR Wit & 41 3rtet A 21 1

23
The decimal expansion of the rational number 3¢z Is terminating or a

non-terminating repeating.

RO FHEROT ax2+bx+c=0 & el B wHfar T @ Tl b2-4ac=0 ? 1
What will be the nature of the roots of the quadratic equation ax?+bx+c=0, if
b:-4ac=0 ?

f&g (3, 4) B x-37a1 ¥ T Bnf? - 1

What will be the distance of the point (3, 4) from x-axis?

R v g B TR 6n 0 &, A 3T P At? 1
If the circumference of a circle Is 6x cm, what will be its radius?

7d & QR R el gy 9 gt R et et Yl il o et €9 1

How many tangents can be drawn to a circle from a point lying out side the
circle?

3E 4, 6, 3, 8, 2, 7 T WILA FAT AM? 1
What will be the mean of the data 4, 6, 3,8, 2, 7 ?

frafofaa R M st o woas e 27 1

What Is the median of the following given data?
14, 15, 18, 21, 25, 27, 31, 35, 38.
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10.

11.

12.

13.

14.

15.

svTsa oravs faftr g okt 12, 15 3R 21 @1 Lem s difae 2

Find the LCM of the integers 12, 15 and 21 by using the prime factorisation

method.

Rt TdROT x2+x-6=0 & Tt 1 D> e
Find the roots of the quadratic equation x?+x-6=0.

feramee 5 - 2
Show that :

tan 480 tan 23° tan 42° tan 67° = 1

fogatt (5, 6) 3R (-1, ~4) B 3 At YwrEvs @ v-31er b argura 3 fasnfdm axan
g? 2

In what ratio the Y-axis divides the line segment joining the points (5, -6) and
(-1, -4)?

o g gul @ a5 Ji awr 3 I &1 9 39 B 39 Ny D e 7@ e
S 8IS g9 B Wf IRy Al 2
Two concentric circles are of radii 5 cm and 3 cm. Determine the length of the
chord of the larger circle which touches the smaller circle.

QT / OR

vE flag AR, T ed g & = 9 5 W g0 R &, g0 W el a1 Y orvard 4 A
3 & B s Sl

The length of a tangent from a point A, at distance S cm from the center of the
circle, is 4 cm. Determine the radius of the circle.

& T 3l A af PQ| RS 8, o Rig Bifse i a poQ ~ asOR B) 2
In the given figure, if PQ||RS, prove that A POQ ~ ASOR.

R
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16. v M 3 et 3R 5 aweh 1 1 3w A A A oo i A Pl I 1 FHH
aifraar a1 & f&b i aner @ 2
In a bag there are 3 red balls and 5 black bails. A ball is drawn at random from

the bag. What Is the probabllity that the ball drawn Is red?
JAyar / OR

5o gl &Y A TR W B T v 1 3 X v v Fraren st @1 e 3 & A

2 1 TR B Fiar s Difore!
One card is taken out from a well-shuffled deck of 52 cards. Find the probability

of getting a king of red colour.
17. Fr=fafaa wiaRul & gm o & Bifowe : 4

Solve the following pair of equations :

z.,3
oy
S

ra b

"ﬁ“ ' ) ' 1
18. U YeATS) U TAH O1et ¥ 360 fodt ot it arr et 21 afe g w5 fatiyeen siftre
2, A ar N g § 1 921 BF WY ok e @ O s Sl 4

A train travels 360 Km with a uniform speed. If the speed had been SKm/hour
more, it would have taken 1 hour less for the same distance. Find the speed of
the train.

3™ar / OR .
3 T 44 X9H Bt 311 (el ) 3 w3k 3 A 5 3§ gvan g & Sgess &1 an
1
3 8 35a adw 3ng s Sl
The sum of the reciprocals of Rehman's ages, (in years) 3 years ago and S

years from now is % Find his present age.

231 (HGG) (5] [PTO.
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19. fyg e 4

Prove that :

(sin A + cosec A)? + (cos A + seCA)2 =7 + tan? A + cot2 A

20. Gl A(-5, 7), B(-4, -5), (-1, -6) 3R D(4, 5) T Tt ABCD & M &, @ g4
TS BT B s e 4

IFA(-S, 7), B(-4, -5), C(-1, -6) and D(4, 5) are the vertices of a quadrilateral
ABCD, find the area of this quadrilateral,

21. wﬁaﬁmﬁma.sﬁaﬁwwémaé,mﬁrﬁmmwmﬁw

R 21 59 Ract & s S 15,5 W 21571 Raehy a1 ot g dreser
F1a s 4

A toy is in the form of a cone of radius 3.5 cm mounted on a hemisphere of

Same radius. The total height of the toy is 15.5 cm. Find the total surface area
of the toy.

ammm%%mﬁﬂhmﬁmwaﬁﬁﬁamﬁmma@m?

A sphere of diameter 5 cm is dropped into a Cylindrical vessel partly filled with
water. The diameter of the base of the vessel is 10 cm. If the sphereis completely
submerged, by how much will the level of water rise?

22, uaarawﬁ%ﬁam%uﬁl@rsoﬁaﬁmumasm@auﬁﬁrm%l 139 A ag

stream and that of the boat in still water.

39a1 / OR
uﬁﬁnﬁﬁa%ﬁmsﬂzaﬁﬁzﬁsﬁmm.a}ﬂg%ﬁaﬂémﬁmaﬂ?

S # 3 3 Ren e, 7 2 2 ol 1 e P o iy
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A fractlon becomes -f—l , If 2 Is added to both the numerator and the denominator.

5
If, 3 is added to both the numerator and the denominator It becomes X Find

the fraction.

23. 1.5 M0 7T O TR 30 0 3 U WA A TV U W G &1 7 Tg S 99 B AR
T & T 3 3t & e 3 RIER & 3 P07 30° F 60° & e &1 aenge i aw
W 1 3R et g o T T 2 5
A 1.5 m tall boy Is standing at some distance from a 30 m tall building. The angle
of elevation from his eyes to the top of the building increases from 30° to 60°
as he walks towards the bullding. Find the distance he walked towards the

building.
24. v Fivs ABC TEe fmnd BC=6 Y, AB=5 ¥ 3R ~ABC=60° &1 IR v Pyt
B e Bfdre, B YEmE AABC B Wi Yol B 5 T 2N 5

Draw a triangle ABC with side BC=6 cm, AB=5 cm and ZABC=60°. Then construct
a triangle whose sides are % times of the corresponding sides of the triangle
ABC. https://www.ukboardonline.com

Jiga / OR
5 371 Frsan & v g W O 2 e Y Hifve, St e 60° & BT ) g &

Draw a pair of tangents to a circle of radius 5 cm which are inclined to each
other at an angle of 60°.

25. o ma Fygst ABC & 9§ A ¥ BC W 1o e o BC B Rg b W 3 W vk
& & i DB=3CD &1 firg Bifswe 5 2482 = 2aC2 + BC2 B 5
The perpendicular from A on side BC of a glven triangle ABC intersects BC at D

such that DB=3CD. Prove that 2AB? = 2AC2 + BC?
A
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26.

27.

T 7 3 3T 20 i TR 0 Fnt Wrat st @ 3R W % Praed g4 ) & v g
A e 22 W x 14 F TN 0P TR T W ) 39 Ay B Farg sma D
5
A 20 m deep well with diameter 7 m is dug and the earth from digging is evenly
spread out to form a platform 22 m x 14 m. Find the height of the platform.

Q1 / OR
US 9% & R, S 45 I Far 2, SRR o Frsams 28 I 3k 7 9 &) 30T 3
Fd DT (n = % difame)
The radii of the ends of a frustum of a cone 45 cm high are 28 cm and 7 cm.
Calculate its volume. (take = = —2;)

frfoiaa sifest @ agas s St - 5

Find the mode of the following data :

aﬁm

10-20 | 20-30 | 30-40 [40-50 [ 50-60 [ 60-70] 70-80
Class interval
TRARAT 12 19 6 10 9 6 5
M
Frequency
-
;
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